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Multiplying a Decimal by a Decimal

Solve the following problems.

3.7 2.25x =

3.25 12.5x =

3.1 0.16x =

0.5 2.88x =

1.77 1.5x =

1.14 9.5x =

0.65 1.8x =

1.25 3.5x =

1.66 10.2x =

2.4 0.71x =

1.2 2.98x =

1.99 2.5x =

4.01 4.7x =

0.09 5.5x =

1.1 5.33x =

3.7 0.77x =

2.7 1.56x =

5.04 3.3x =

2.86 4.2x =

2.34 3.9x =
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Answers

Solve the following problems.

8.3253.7 2.25x =

40.6253.25 12.5x =

0.4963.1 0.16x =

1.440.5 2.88x =

2.6551.77 1.5x =

10.831.14 9.5x =

1.170.65 1.8x =

4.3751.25 3.5x =

16.9321.66 10.2x =

1.7042.4 0.71x =

3.5761.2 2.98x =

4.9751.99 2.5x =

18.8474.01 4.7x =

0.4950.09 5.5x =

5.8631.1 5.33x =

2.8493.7 0.77x =

4.2122.7 1.56x =

16.6325.04 3.3x =

12.0122.86 4.2x =

9.1262.34 3.9x =


